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QUESTION NO: 1 
What is the maximum number of node addresses available on the IP Supernet 215.100.16.0/21? 
 

A. 254 
B. 510 
C. 1022 
D. 2046 
E. 4094 

 
 
Answer: D 
 
 
 
QUESTION NO: 2 
What us the responsibility of the Application layer of the OSI model? 
 

A. Error control. 
B. Frame synchronization. 
C. Session administration. 
D. Provide network services. 
E. End-to-end delivery and session multiplexing. 

 
 
Answer: D 
 
 
 
QUESTION NO: 3 
Which layer of the OSI model is responsible for routing? 
 

A. Network 
B. Session 
C. Physical 
D. Transport 
E. Data link 
F. Application 

 
 
Answer: A 
 
 
 
QUESTION NO: 4 
A network administrator was assigned two class C network addresses despite needing a single 
network with 600 nodes. How might the administrator achieve a single, 600 node network? 
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A. Route the networks. 
B. Bridge the networks. 
C. Subnet the networks. 
D. Supernet the networks. 

 
 
Answer: D 
 
 
 
QUESTION NO: 5 
Which two IP address criteria are required for Supernetting? (Choose two) 
 

A. Addresses must be consecutive. 
B. The address must be Class B. 
C. The subnetmask must contain at least 20 bits. 
D. The third octet of the first address must be evenly divisible by 2. 
E. The third octet of the first address must be evenly divisible by 23. 

 
 
Answer: A, D 
 
 
 
QUESTION NO: 6 
Which features are associated with link state routing? (Choose two) 
 

A. Counts hops. 
B. Converges quickly. 
C. Uses a cost metric. 
D. Requires very little configuration. 
E. Recalculates entire routing database before forwarding changes. 

 
 
Answer: B, D 
 
 
 
QUESTION NO: 7 
Which elements form an IPX address used for internetwork communication? (Choose three) 
 

A. Subnet mask 
B. Node address 
C. Socket number 
D. Network address 
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Answer: B, C, D 
 
 
 
QUESTION NO: 8 
Select the link state routing protocol. (Choose two) 
 

A. RIP 
B. LAT 
C. SNA 
D. NLSP 
E. RTMP 
F. OSPF 

 
 
Answer: D, F 
 
 
 
QUESTION NO: 9 
Identify the NDS user object created by default. 
 

A. Supervisor 
B. Container 
C. Admin 
D. Template 

 
 
Answer: C 
 
 
 
QUESTION NO: 10 
What are the mandatory property values for a user object? 
 

A. Login name, preferred server. 
B. Login name, lastname. 
C. Login name, location. 
D. Login name, workstation type. 

 
 
Answer: B 
 
 
 
QUESTION NO: 11 
Which statement best describes the implications of giving a user the supervisor object right to 
a server object? 
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A. This gives the user ability to create another server object in the tree. 
B. This gives the user ability to shut down the server using the NetWare Administrator utility. 
C. This gives the user the ability to place IRFs on any container in the tree. 
D. This gives the user Supervisor file system rights to all volumes linked to that server. 
E. This gives the user ability to delete any object in the tree. 

 
 
Answer: D 
 
 
 
QUESTION NO: 12 
Identify the correct statements concerning All Property Rights vs. Selected Property Rights. 
(Choose two) 
 

A. The All Properties option can only be used at the container level. 
B. The Selected Properties option grants the level of access an object trustee has to all properties 

of the object. 
C. The Selected Properties option can only be used at the container level. 
D. Rights granted through Selected Properties overwrite rights granted through All Properties 

for the selected property. 
E. The All Properties option grants the level of access an object trustee has to all properties of 

the object. 
 
 
Answer: D, E 
 
 
 
QUESTION NO: 13 
Which statement is true regarding Novell Application Launcher? 
 

A. It creates and displays application objects. 
B. It takes a snap shot of the current machine configuration. 
C. It delivers application to the start menu. 
D. It allows applications to be distributed to users workstations and to be managed as objects in 

the NDS tree. 
 
 
Answer: D 
 
 
 
QUESTION NO: 14 
Which statement is true of a public access printer? (Choose two) 
 

A. It has no corresponding NDS object. 
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B. It offers simple or automatic client installation. 
C. It has low security. 
D. It offers a full range of event and status notification options. 

 
 
Answer: A, C 
 
 
 
QUESTION NO: 15 
Which statement object best describes the container object? 
 

A. An NDS object located at the end of a branch in the NDS tree. 
B. An NDS object that serves as an originator and the final destination of network traffic. 
C. An NDS object that holds other objects and provides them with rights and services. 
D. An NDS object that identifies categories of information associated with an object. 

 
 
Answer: C 
 
 
 
QUESTION NO: 16 
Which statement is true of a controlled access printer? (Choose two) 
 

A. It has low security. 
B. It offers simple or automatic silent installation. 
C. It has no corresponding NDS object. 
D. It offers a full range of event and status notification options. 

 
 
Answer: B, D 
 
 
 
QUESTION NO: 17 
Network Address Translation (NAT) can be configured to operate in three different modes. 
Which mode is used for permanent one-to-one mapping of public registered IP addresses to 
unregistered IP addresses inside a private network? 
 

A. IP 
B. IPX 
C. Static 
D. Dynamic 
E. Static and Dynamic 

 
 
Answer: C 
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QUESTION NO: 18 
Which type of DHCP object should you configure to manually assign an IP address to a 
specific workstation on the network? 
 

A. IP Address object 
B. DHCP Subnet object 
C. Subnet Address object 
D. Subnet Address Range object 

 
 
Answer: A 
 
 
 
QUESTION NO: 19 
Which NetWare service provides a way to update DNS with accurate A records and Pointer 
records for address assignments? 
 

A. DNS 
B. DHCP 
C. Dynamic DNS 
D. Dynamic DHCP 

 
 
Answer: C 
 
 
 
QUESTION NO: 20 
Network Address Translation (NAT) can be configured to operate in 3 different modes. 
Certain hosts (such as web or FTP servers) on the private network need to be accessed by hosts 
on the public network, but hosts on the private network do not need to access resources on the 
public network. 
Which mode should NAT be configured to use? 
 

A. IP 
B. IPX 
C. Static 
D. Dynamic 
E. Static and Dynamic 

 
 
Answer: C 
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QUESTION NO: 21 
When you are configuring DHCP, which object identifies the IP addresses available for 
dynamic assignment? 
 

A. DHCP Server object 
B. Subnet Pool object 
C. DNS-DHCP Locator object 
D. Subnet Address Range object 

 
 
Answer: D 
 
 
 
QUESTION NO: 22 
Which statement regarding DNS zones and Ipv6 addresses is true? 
 

A. The standard DNS zone supports both Ipv4 and Ipv6 addresses by default. 
B. The IN-ADDR.ARPA zone maps Ipv6 addresses to domain names. 
C. The IP6.INT zone type is used to resolve domain names to Ipv6 addresses. 
D. The standard DNS zone contains records that resolve domain names into Ipv6 addresses. 

 
 
Answer: C 
 
 
 
QUESTION NO: 23 
Which utility is used to configure Network Address Translation on a NetWare 5.1 server? 
 

A. INETCFG 
B. NIASCFG 
C. NWADMIN 
D. NWCONFIG 

 
 
Answer: A 
 
 
 
QUESTION NO: 24 
Which type of DHCP object should you configure to manually assign an IP address to a 
specific workstation on the network? 
 

A. IP Address object. 
B. Subnet Pool object. 
C. IP Configuration object. 
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D. Subnet Address Range object. 
 
 
Answer: A 
 
 
 
QUESTION NO: 25 
As the system administrator, you have decided to do a full backup every Sunday followed by 
daily differential backups. On Wednesday, what data will be backed up by the differential 
backup, and what happens to the archive bit? 
 

A. It will  back up all data, regardless of when or if it has previously been backed up, and the 
archive bit is cleared. 

B. It will back up all files that have been created or modified since the Tuesday differential 
backup, and the archive bit will be cleared. 

C. It will back up all files that have been created or modified since the Tuesday differential 
backup, and the archive bit will not be cleared. 

D. It will back up all data that has been created or modified since Sunday’s full backup, and the 
archive bit will be cleared. 

E. It will back up all data that has been created or modified since Sunday’s full backup, and the 
archive bit will not be cleared. 

 
 
Answer: E 
 
 
 
QUESTION NO: 26 
In preparation for backing up the file system using NWBACK32 on the backup host NetWare 
5.1 server, you have completed the following steps: 

1. Loaded the tape device driver on the host server. 
2. Configured a print queue for the backup operation. 

 
What is the next step? 
 

A. Load TSANDS on the NetWare 5.1 host server. 
B. Load TSA500 on the NetWare 5.1 host server. 
C. Load TSA500 on the NetWare 5.1 target server. 
D. Load TSANDS on a NetWare 5.1 server with a replica. 
E. Load the NetWare BackupRestore NLMs on the host server.  

 
 
Answer: B 
 
 
 
QUESTION NO: 27 

       
 

 

 
 

 
 
 

 

 
 

 ITCertifyhome.com

 

The Only Way to get Certified Quickly.  



       
 

 - 11 -   

What IPX routing protocol offers load balancing capabilities without reducing the physical size 
of the internetwork? 
 
 
Answer: NLSP 
 
 
 
QUESTION NO: 28 
What IPX routing protocol is best suited for an internetwork that contains 138 routers, 
multiple redundant routes that require load balancing, and three WAN links? 
 
 
Answer: NSLP 
 
 
 
QUESTION NO: 29 
What network standard specifies two counter-rotating rings? 
 

A. FDDI 
B. IEEE 802.3 
C. IEEE 802.5 
D. IEEE 802.3u 
E. IBM Token Ring 

 
 
Answer: A 
 
 
 
QUESTION NO: 30 
Which network IP address is reserved for loopback? 
 

A. 0.0.0.0 
B. 1.0.0.0 
C. 127.0.0.0 
D. 255.0.0.0 

 
 
Answer: C 
 
 
 
QUESTION NO: 31 
If a node has an Ipv4 address of 200.100.98.97, on what class of network is the node located? 
 

A. Class A. 
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B. Class B. 
C. Class C. 
D. Class D. 
E. Class E. 

 
 
Answer: C 
 
 
 
QUESTION NO: 32 
What is the maximum segment length allowed in a 100BASE-TX LAN? 
 

A. 100 meters 
B. 412 meters 
C. 1000 meters 
D. 10,000 meters 

 
 
Answer: A 
 
 
 
QUESTION NO: 33 
A network administrator needs to create 12 subnets. What is the minimum number of bits 
required to create the 12 subnets? 
 

A. 3 bits 
B. 4 bits 
C. 5 bits 
D. 12 bits 

 
 
Answer: B 
 
 
 
QUESTION NO: 34 
What NetWare utilities will allow you to delete or move directories and their contents? 
 

A. NetWare Administrator, NCOPY, FILER, FLAG, RENDIR. 
B. NetWare Administrator, NCOPY, FILER, FLAG. 
C. NetWare Administrator, NCOPY, FILER, FLAG, RENDIR, NDIR. 
D. NetWare Administrator, FILER. 
E. NetWare Administrator, NCOPY, FILER 

 
 
Answer: D 
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QUESTION NO: 35 
Which object allow you to restrict available volume space? (Choose two) 
 

A. User 
B. Organizational unit 
C. Container 
D. Directory 
E. Tree 

 
 
Answer: A, D 
 
 
 
QUESTION NO: 36 
User MarcJ has a container profile and user scripts. In what order will these scripts be 
executed? 
 

A. User, profile, container. 
B. Profile, user, container. 
C. User, container, profile 
D. Container, user, profile. 
E. Container, profile, user. 

 
 
Answer: E 
 
 
 
QUESTION NO: 37 
Which Z.E.N work agents allows you to connect to and manage a workstation using the remote 
control utility? 
 

A. Printer Agent. 
B. Workstation Registration Agent. 
C. Remote Control Agent. 
D. Remote User Agent. 

 
 
Answer: B 
 
 
 
QUESTION NO: 38 
Which NDS object or objects are associated with the container policy package? 
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A. Users, user groups and containers. 
B. Workstation, workstation groups and containers. 
C. Containers only. 
D. User groups and containers. 
E. Users and containers. 

 
 
Answer: C 
 
 
 
QUESTION NO: 39 
Identify the true statement concerning Help Desk Policies. 
 

A. They only apply to users and appear only in user policy packages. 
B. They only apply to the containers and appear only in container policy packages. 
C. They only apply to workstation and appear only in the workstation policy packages. 
D. They apply to both users and workstations and appear in user and workstation policy 

packages. 
 
 
Answer: A 
 
 
 
QUESTION NO: 40 
Which utility do you use to configure DHCP objects that reside in the NDS tree? 
 

A. NDS Manager 
B. NetWare Administrator 
C. NetWare Management Portal 
D. DNS/DHCP Management Console 

 
 
Answer: D 
 
 
 
QUESTION NO: 41 
Which type of DNS zone maps IP addresses to domain names? 
 

A. IP6.INT zones 
B. Primary zones 
C. IN-ADDR.ARPA zones 
D. RootServerInfo zones 

 
 

       
 

 

 
 

 
 
 

 

 
 

 ITCertifyhome.com

 

The Only Way to get Certified Quickly.  



       
 

 - 15 -   

Answer: C 
 
 
 
QUESTION NO: 42 
Which DHCP object contains all server-specific configuration and policy information? 
 

A. DHCP Server object 
B. DHCP Subnet object 
C. Subnet Pool object 
D. Subnet Address Range object 

 
 
Answer: A 
 
 
 
QUESTION NO: 43 
Which DNS object points to a root name server on the Internet? 
 

A. DNS Zone object. 
B. DNS Name Server object. 
C. RootServerInfo Zone object 
D. Resource Record Set object. 

 
 
Answer: C 
 
 
 
QUESTION NO: 44 
You need to assign multiple Subnet objects to service the same physical network segment. 
Which DHCP object should you create? 
 

A. IP Address Object. 
B. Subnet Pool object. 
C. DHCP Subnet object. 
D. Subnet Address Range object. 

 
 
Answer: B 
 
 
 
QUESTION NO: 45 
After you have installed Novel DNS/DHCP Services, which NLM do you run to extend the NDS 
schema and create the three DNS/DHCP default objects? 
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Answer: DNIPINST.NLM 
 
 
 
QUESTION NO: 46 
As the system administrator, you have decided to do a full backup every Sunday followed by 
daily incremental backups. On Friday, what data will be backed up by the incremental 
backup, and what happens to the archive bit? 
 

A. It will back up all data, regardless of when or if it has previously been backed up, and the 
archive bit is cleared. 

B. It will back up all files that have been created or modified since the Thursday incremental 
backup, and the archive bit will be cleared. 

C. It will back up all files that have been created or modified since the Thursday incremental 
backup, and the archive bit will not be cleared. 

D. It will back up all data that has been modified since Sundays’ full backup, and the archive bit 
will be cleared. 

E. It will back up all data that has been modified since Sunday’s full backup, and the archive bit 
will not be cleared. 

 
 
Answer: B 
 
 
 
QUESTION NO: 47 
What IPX routing protocol generally uses the least bandwidth, provides the fastest routing 
updates, and offers scalability for large internetworks? 
 
 
Answer: NLSP 
 
 
 
QUESTION NO: 48 
Which two protocols in the TCP/IP protocol stack correspond to the Transport layer of the 
OSI model? (Choose two) 
 

A. IP 
B. UDP 
C. FTP 
D. TCP 
E. HTTP 
F. ICMP 

 
 
Answer: B, D 
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QUESTION NO: 49 
How many bits are there in an Ipv4 address? 
 
 
Answer: 32 
 
 
 
QUESTION NO: 50 
What is a responsibility of the Application layer of the OSI model? 
 

A. Error control. 
B. Frame synchronization. 
C. Session administration. 
D. Provide network services. 
E. End-to-end delivery and session multiplexing. 

 
 
Answer: D 
 
 
 
QUESTION NO: 51 
Which IPX network addresses are reserved for special purposes? (Choose three) 
 

A. 00000000 
B. 11111111 
C. FFFFFFFE 
D. AAAAAAAA 
E. AAAA0000 

 
 
Answer: A, B, C 
 
 
 
QUESTION NO: 52 
The remote control policy is found in which policy package or packages? 
 

A. Workstation policy package. 
B. Workstation and container policy packages. 
C. Workstation and user policy package. 
D. User policy package. 
E. Container policy package. 
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Answer: C 
 
 
 
QUESTION NO: 53 
Identify administrator benefits of using NAL. (Choose three) 
 

A. Roaming profile support. 
B. Centralized application maintenance and control. 
C. Push-and-pull software distribution to workstations. 
D. Single-point location independent access to applications. 
E. Application fault tolerance. 
F. Single-point application administration. 

 
 
Answer: B, C, F 
 
 
 
QUESTION NO: 54 
Identify the true statement regarding Novell Application Launcher (NAL). 
 

A. It provides multilevel folders to hierarchically order application objects in the tree. 
B. It schedules actions such as client updates on workstation during off-hours or when the user 

is not logged into the network. 
C. It delivers applications to the Start menu. 
D. It creates and displays application objects. 
E. It distributes user profiles. 

 
 
Answer: D 
 
 
 
QUESTION NO: 55 
Which NDS object or objects are associated with a Windows user package? 
 

A. Users, user groups, or containers. 
B. Users only. 
C. Workstation only. 
D. Workstations, workstation groups or containers. 
E. Containers only. 

 
 
Answer: A 
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QUESTION NO: 56 
Which DNS object allows you to resolve domain names that are not in your tree? 
 

A. DNS Zone object 
B. DNS Name Server object 
C. Resource Record object 
D. RootServerInfo Zone object 

 
 
Answer: D 
 
 
 
QUESTION NO: 57 
After you have installed Novell DNS/DHCP Services, which NLM do you run to extend the 
NDS schema and create the three DNS/DHCP default objects? 
 

A. DNSINST.NLM 
B. DNSDHCP.NLM 
C. DNIPINST.NLM 
D. DHCPSRVR.NLM 

 
 
Answer: C 
 
 
 
QUESTION NO: 58 
Which utility do you use to configure DHCP objects that reside in the NDS tree? 
 

A. NWCONFIG 
B. NDS Manager 
C. NetWare Management Portal 
D. DNS/DHCP Management Console 

 
 
Answer: D 
 
 
 
QUESTION NO: 59 
Which type of DNS zone maps IP addresses to domain names? 
 

A. IP6.INT zones 
B. Primary zones 
C. Secondary zones 
D. IN-ADDR.ARPA zones 
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Answer: D 
 
 
 
QUESTION NO: 60 
Which DHCP object is a container object that holds IP address configuration information? 
 

A. IP Address object. 
B. DHCP Subnet object. 
C. DHCP Server object. 
D. Subnet Pool object. 

 
 
Answer: B 
 
 
 
QUESTION NO: 61 
Which backup strategy would you use in order to spend the least amount of time restoring the 
data, if backup time is not a consideration? 
 

A. Full backup at every backup session. 
B. Full backup each week followed by daily incremental backups. 
C. Full backup each week followed by daily differential backups. 
D. Full backup each week followed by a combination of differential and incremental backups. 

 
 
Answer: A 
 
 
 
QUESTION NO: 62 
Why is IPv6 critical to the future of the Internet? 
 

A. The Internet will run out of IPv4 addresses. 
B. IPv6 provides connection oriented, reliable communication. 
C. IPv6 requires less bandwidth than current Internet protocols. 
D. IPv6 provides superior address resolution capabilities compared to current solutions. 

 
 
Answer: A 
 
 
 
QUESTION NO: 63 
How is a routing path discovered in a source-routing network? 
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A. Each bridge sends an XID packet around the rings to which it is connected. 

The XID packet collects each Mac address on the ring and the bridge uses this information to 
build a routing table. 

B. The bridge builds routing oaths by recording the sending address of every frame they receive. 
By matching the sending address of a frame to the network segment the frame arrived on, the 
bridge generate a routing table. 

C. The bridges broadcast hello frames to the network segments to which they are attached. 
Each bridge builds a filtering table based upon the sending addresses in the reply frames. 
The bridges then exchange this information to build network-wide routing paths. 

D. The sending station transmits a hello frame addressed to the receiving station. 
The hello frame collects routing information as it travels form ring to ring. 
When the receiving station responds to the sending station, it includes the routing information 
from the hello frame. 

 
 
Answer: B 
 
 
 
QUESTION NO: 64 
What Ipv4 address class offers the smallest number of network addresses with the largest 
number of node addresses? 
 
 
Answer: Class A 
 
 
 
QUESTION NO: 65 
A network uses a subnet mask of 255.255.248.0 it receives host addresses contains all “1’s”. 
How many host addresses are available for each subnet? 
 

A. 255 
B. 512 
C. 1023 
D. 2047 

 
 
Answer: D 
 
 
 
QUESTION NO: 66 
What are the default trustee assignments granted in NDS in installation of a file server? 
 

A. Admin and the [ROOT] object. 
B. Creator of the server. 
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C. Creator of the server, server objects, [PUBLIC] trustee. 
D. Admin, [PUBLIC] trustee. O or OU where the server object is placed. 

 
 
Answer: C 
 
 
 
QUESTION NO: 67 
If the directory has not been deleted, where are the salvageable files stored after they are 
deleted? 
 

A. In the DELETED.SAV directory located in the directory form which they are deleted. 
B. In the directory from which they were deleted. 
C. In the DELETED.SAV directory located in the volumes root directory where the files were 

deleted. 
D. In the volumes root directory where the directory was deleted. 

 
 
Answer: B 
 
 
 
QUESTION NO: 68 
In what ways can disk volume space be restricted? (Choose two) 
 

A. By volume. 
B. By serve. 
C. By organization. 
D. By user. 
E. By directory. 

 
 
Answer: D, E 
 
 
 
QUESTION NO: 69 
Which server console command starts the DNS server? 
 
 
Answer: NAMED 
 
 
 
QUESTION NO: 70 
Which server console command starts the DNS server? 
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A. NAMED 
B. DNSSRVR 
C. DNSDHCP 
D. DNIPINST 

 
 
Answer: A 
 
 
 
QUESTION NO: 71 
Which NetWare service provides a way for DNS databases to be instantly notified and updated 
with address assignments made by DHCP servers? 
 

A. DNS 
B. DHCP 
C. Dynamic DNS 
D. Dynamic DHCP 

 
 
Answer: C 
 
 
 
QUESTION NO: 72 
Which server console command would you use to start the DHCP software on a NetWare 
5.server? 
 
 
Answer: DHCPSRVR 
 
 
 
QUESTION NO: 73 
You have created a user to back up your NetWare 5 network and have assigned the following 
rights: 

1. Read and File scan rights to the files. 
2. Browse object and Read property rights to the entire tree. 
3. Passwords to the servers that act as hosts and targets. 

 
What other rights will this user need to restore the file system or NDS tree? 
 

A. Erase 
B. Modify 
C. Create 
D. Supervisor 
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Answer: C 
 
 
 
QUESTION NO: 74 
How many octets are in an Ipv4 address? 
 
 
Answer: 4 
 
 
 
QUESTION NO: 75 
What protocol provides simple read/write interactive access to the X.500? 
 
 
Answer: RFC 1777 – Lightweight Directory Access Protocol 
 
 
 
QUESTION NO: 76 
What element of an IPX address determines the packet’s service destination within a given 
network device? 
 

A. Subnet mask 
B. Node address 
C. Socket number 
D. Network 
E. Network address 
F. Internet network address 

 
 
Answer: C 
 
 
 
QUESTION NO: 77 
Which object or objects are associated with Windows workstation policies? (Choose three) 
 

A. Workstation group objects. 
B. Individual user objects. 
C. Individual workstation objects. 
D. Containers. 
E. User group objects. 

 
 
Answer: A, C, D 
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QUESTION NO: 78 
Once file compression has been enabled, how can file compression be disabled? 
 

A. Disable file compression using the SET command. 
B. Disable file compression using SERVMAN. 
C. Flag the volume with the Dc attribute. 
D. Recreate the volume. 

 
 
Answer: D 
 
 
 
QUESTION NO: 79 
Which statement best describes the NDPS broker? 
 

A. The NDPS broker provides support for service registration, event notification and resource 
management. 

B. The NDPS broker manages a single print device or print function of a multifunction device. 
C. The NDPS broker provides a bridge between NDPS clients and legacy printers. 

 
 
Answer: A 
 
 
 
QUESTION NO: 80 
Network Address Translation (NAT) can be configured to operate in three different modes. 
You need to provide the private network with access to the public network and you need 
certain hosts (such as web and FTP servers) on the private network to be accessible from the 
public network. 
Which mode should NAT be configured to use? 
 

A. IP 
B. IPX 
C. Static 
D. Dynamic 
E. Static and Dynamic 

 
 
Answer: E 
 
 
 
QUESTION NO: 81 
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Network Address Translation (NAT) can be configured to operate in 3 different modes. Hosts 
on the private network need to access resources on the public network, but hosts on the public 
network do not need to access resources on the private network. 
Which mode should NAT be configured to use? 
 

A. IP 
B. IPX 
C. Static 
D. Dynamic 
E. Static and Dynamic 

 
 
Answer: D 
 
 
 
QUESTION NO: 82 
Which backup strategy would you use in order to spend the least amount of time backing up 
the data, if restoral time is not a consideration? 
 

A. Full backup at every backup session. 
B. Full backup each week followed by daily incremental backups. 
C. Full backup each week followed by daily differential backups. 
D. Full backup each week followed by a combination of differential and incremental backups. 

 
 
Answer: B 
 
 
 
QUESTION NO: 83 
Which subnet mask designates a Class B network address with a 6 bit subnet? 
 

A. 255.255.252.0 
B. 255.255.224.0 
C. 255.255.248.0 
D. 255.255.240.0 
E. 255.255.255.0 

 
 
Answer: A 
 
 
 
QUESTION NO: 84 
The TCP/IP protocols HTTP and FTP map to which three layers of the OSI model? (Choose 
three) 
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A. Network 
B. Session 
C. Physical 
D. Data link 
E. Transport 
F. Application 
G. Presentation 

 
 
Answer: B, F, G 
 
 
 
QUESTION NO: 85 
What methodology regulates network media access on an 802.3u compliant LAN? 
 

A. HCS 
B. VG 100 
C. CSMA/CD 
D. Token passing 

 
 
Answer: B 
 
 
 
QUESTION NO: 86 
Which items does a standalone computer need to connect to the network? (Choose three) 
 

A. DOS 4.1 or above. 
B. Network board. 
C. Hard drive. 
D. Network cabling media. 
E. Network connection software. 

 
 
Answer: B, D, E 
 
 
 
QUESTION NO: 87 
Given a situation where you could not register workstations using Application Launcher, how 
else can you set up workstation registration to occur automatically? (Choose two) 
 

A. Remote control 
B. Startup menu 
C. Login script 
D. Programs menu item 
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E. Scheduler 
F. Console command broadcast 

 
 
Answer: C, E 
 
 
 
QUESTION NO: 88 
When you are configuring DHCP, which object allows you to assign multiple Subnet objects to 
service DHCP requests? 
 

A. DHCP Server object 
B. Subnet Pool object 
C. DNS-DHCP Locater object 
D. Subnet Address Range object 

 
 
Answer: B 
 
 
 
QUESTION NO: 89 
Four DNS objects are created when SLP Directory Agents are loaded for the first time. Which 
leaf object represents specific services that have been registered with the Directory Agent? 
 

A. SLP Service Object 
B. SLP Scope Unit Object 
C. SLP Directory Agent Object 
D. SLP_SCOPE Organizational Unit Object 

 
 
Answer: A 
 
 
 
QUESTION NO: 90 
What is the function of NWBACK32 in the backup/restore process? 
 

A. Conducts the backup or restoration. 
B. Establishes communication with the backup or restore target. 
C. Processes the backup or restore job and creates a backup session. 
D. Configure and submits backup or restore jobs to the backup server. 

 
 
Answer: D 
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QUESTION NO: 91 
Which two components of the TCP/IP protocol suite map to the Host-to-Host layer of the DOD 
model? (Choose two) 
 

A. IP 
B. TCP 
C. FTP 
D. NFS 
E. UDP 
F. ARP 

 
 
Answer: B, E 
 
 
 
QUESTION NO: 92 
If a node has an IP address of 144.156.87.98, on which class of network is the node located? 
 

A. A 
B. B 
C. C 
D. D 
E. E 

 
 
Answer: B 
 
 
 
QUESTION NO: 93 
Which rights are needed to remotely view and control workstations? (Choose two) 
 

A. Write right to All Properties in workstation objects. 
B. Read right to All Properties in workstation objects. 
C. Write right to the DM Remote Verification property of the workstation object. 
D. Read right to the DM Remote Verification property of the workstation object. 

 
 
Answer: B, C 
 
 
 
QUESTION NO: 94 
Which NLM is used to configure Network Address Translation on a NetWare 5.1 server? 
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Answer: INETCFG.NLM 
 
 
 
QUESTION NO: 95 
Network Address Translation (NAT) can be configured to operate in three different modes. In 
which mode does NAT enable IP hosts on a private network to access the public network 
without requiring and administrator to assign a globally unique IP address to each system? 
 

A. IP 
B. IPX 
C. Static 
D. Dynamic 
E. Static and Dynamic 

 
 
Answer: D 
 
 
 
QUESTION NO: 96 
What IPX protocol advertises network services? 
 
 
Answer: SAP Agent 
 
 
 
QUESTION NO: 97 
Supernetting requires a minimum of how many consecutive IP network addresses? 
 
 
Answer: 2 
 
 
 
QUESTION NO: 98 
Which rights are required to execute an EXE file? (Choose two) 
 

A. M 
B. E 
C. W 
D. C 
E. F 
F. R 
G. A 
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Answer: E, F 
 
 
 
QUESTION NO: 99 
Identify ways Novell Application Launcher manages how an application will run. (Choose 
three) 
 

A. It filters applications. 
B. It sets up fault-tolerance and load balancing. 
C. It provides configuration of policy packages. 
D. It provides remote control workstation management. 
E. It sets up an applications identification. 

 
 
Answer: A, B, E 
 
 
 
QUESTION NO: 100 
Which statements about NDS inheritance are true? (Choose two) 
 

A. By default, rights assigned to a container selected properties flow down to the leaf objects in 
that container. 

B. Objects rights assigned to a container flow down to the objects within the container. 
C. Rights granted at [Root] do not flow down through the three. 
D. An objects Selected Property rights override the rights it receives from the containers All 

Properties assignment. 
 
 
Answer: B, E 
 
 
 
QUESTION NO: 101 
From which sources can a user receive effective rights to an NDS object? (Choose three) 
 

A. [Root} 
B. Security equivalencies. 
C. Server object. 
D. Directory map object. 
E. Groups and organization role objects. 
F. NDPS printer object. 

 
 
Answer: A, B, E 
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QUESTION NO: 102 
SLP Directory Agents must be enabled manually by loading which NLM on the NetWare 
5.server? 
 

A. DAS.NLM 
B. SLP.NLM 
C. SAP.NLM 
D. SLPDA.NLM 

 
 
Answer: D 
 
 
 
QUESTION NO: 103 
Which type of DHCP object should you configure to manually assign an IP address to a 
specific workstation on the network? 
 

A. IP Address object 
B. DHCP Subnet object 
C. Subnet Pool object 
D. Subnet Address Range object 

 
 
Answer:  
 
 
 
QUESTION NO: 104 
Which DHCP object represents an IP network address that is assigned to a physical network 
segment? 
 

A. IP Address object. 
B. DHCP Subnet object. 
C. DHCP Server object. 
D. Subnet Pool object. 

 
 
Answer: B 
 
 
 
QUESTION NO: 105 
Which NLM must you load on the backup server when backing up and NT workstation on 
your network? 
 

A. TSANT 
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B. TSANDS 
C. TSA500 
D. TSACLNT 
E. TSAPROXY 

 
 
Answer: E 
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